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P = EERRL| BEE | EoE* |RBREL LemrE| CERR
BEWS ®ik% | LOBEE| (mg/ke) (mg/kg) |#EfB(mg/ke)| ZBIRIAE [ (mg/ke)

MEP BALZL 12 1 0.03 0.02 0.3 0 0.02
TPN =Y 20 3 0.16 0.02 5 0 0.01
_EDH 10 3 0.09 0.03 5 0 0.02
IF5NAZES 5 1 0.22 0.06 3 0 0.02
HTI 7 1 0.36 0.07 5 0 0.02
FHRITUKR L) — 11 2 1.40 0.16 3 0 0.02
=Y 11 1 0.04 0.02 2 0 0.02
I=kRbk 29 8 0.52 0.06 2 0 0.02
HALZL 31 7 0.08 0.02 2 0 0.02
HTIE 4 1 0.04 0.02 40 0 0.01
L) — 22 18 3.00 0.37 30 0 0.01
=Y 10 1 0.04 0.01 1 0 0.01
TYEUARREY = d 3 1 0.01 0.01 3 0 0.01
F—< 25 3 0.11 0.02 3 0 0.01
SOVAIFA 7 1 0.03 0.01 3 0 0.01
HARLZL 3 2 0.14 0.06 2 0 0.01
AVESY L = d 5 1 0.07 0.03 3 0 0.02
— SRk 4 1 0.02 0.01 0.3 0 0.01
AIVTHR F—< 2 1 0.01 0.01 0.7 0 0.01
=5 e FI3NAZS 15 9 1.60 0.31 15 0 0.02
3% 7A7IF L) — 13 1 0.04 0.02 4 0 0.02
IFJO—JL KK 19 4 0.02 0.01 0.2 0 0.01
. N B3 8 1 0.02 0.01 0.5 0 0.01
ThozvTRvIR SOVATA |10 3 0.84 0.11 4 0 0.02
e L) — 11 3 0.23 0.04 15 0 0.02
ILIRLLATIL HAZL 33 13 0.27 0.05 5 0 0.02
KE 15 6 0.04 0.02 1 0 0.02
_EDH 4 2 2.50 0.64 10 0 0.01
ligjn/u%’) 4 3 0.09 0.05 40 0 0.01
e HTI 3 3 0.32 0.16 10 0 0.01
IRFT=oY )L)— 21 10 1.10 0.17 10 0 0.01
I=hRbk 10 1 0.01 0.01 3 0 0.01
F—< 8 1 0.01 0.01 3 0 0.01
HARLZL 42 9 0.05 0.01 1 0 0.01
IskFEIYDIN [EISYA 1 1 0.24 0.24 5 0 0.02
[EISYA 2 2 0.30 0.16 20 0 0.02
IF5NAZES 11 8 0.91 0.21 20 0 0.02
HTIE 2 2 0.64 0.42 20 0 0.02
yasvks=r7Ra—)L L) — 11 3 0.18 0.04 15 0 0.02
I=kRbk 15 1 0.03 0.02 0.7 0 0.02
SOVAIFA 6 1 0.03 0.02 2 0 0.02
HALZL 29 3 0.11 0.03 1 0 0.02
& 6 1 0.03 0.02 0.03 0 0.02
_EDH 3 2 0.69 0.33 5 0 0.02
L) — 22 16 1.40 0.16 3 0 0.02
. =Y 8 3 0.07 0.03 0.5 0 0.02
sRLIzFEL SZRRE 9 4 0.08 0.04 1 0 0.02
F—< 14 1 0.05 0.02 1 0 0.02
SOVAITFA 2 1 0.05 0.04 0.5 0 0.02
HARLZL 23 3 0.09 0.03 1 0 0.02
_EDH 14 10 0.68 0.14 15 0 0.02
IF5NAZS 10 3 1.50 0.30 25 0 0.02
L7 IFIR HT I 4 3 0.54 0.29 15 0 0.02
=Y 6 1 0.04 0.02 0.7 0 0.02
S=kYk 6 1 0.05 0.03 2 0 0.02
STFURS=)TR—)L I=h3bk 19 3 0.05 0.02 2 0 0.02
. o= F—< 16 4 0.08 0.02 1 0 0.01
~T/ESITy HAGL 5 2 0.12 0.03 2 0 0.01
S e L) — 10 7 0.39 0.10 10 0 0.01
ZIz/ars—lh BAGL 50 2 0.02 0.01 0.8 0 0.01
ST FER SZRRE 2 1 0.06 0.04 0.5 0 0.02
27 z)L BALZL 37 2 0.13 0.04 5 0 0.03
0 ™ IFONAED 9 4 0.59 0.18 5 0 0.05
il HARLZL 16 2 0.10 0.05 2 0 0.05
JANEILD IF5NAZES 1 1 0.13 0.13 50 0 0.02
S50 A T KE 2 1 0.02 0.02 0.3 0 0.01
AERRS L =l d 28 3 0.13 0.02 0.7 0 0.01
IF5NAZS 3 3 0.73 0.28 10 0 0.02
ZAE /YR HTIE 5 2 0.03 0.02 10 0 0.02
L) — 15 1 0.20 0.03 8 0 0.02
AEATRSTE I=kRbk 9 2 0.17 0.03 3 0 0.01
FF7ZIATYR =N 3 1 0.24 0.10 1 0 0.03
AT 1 1 0.48 0.48 3 0 0.02
FTAFYL L) — 9 3 0.03 0.02 1 0 0.02
TR IF5NAZES 12 3 0.05 0.02 0.5 0 0.02




DI EFHRIA R

SRR TERRL| BElE | FyE* RERER | BEMBERE | FERR
EEYL Bk | LOBREE| (me/ke) (mg/kg) |#EfB(mg/ke)| Z BIRIEE [ (mg/ke)

— N, SZRRE 12 3 0.08 0.03 2 0 0.02
TINALARY HEAGL 4 4 0.05 0.04 05 0 0.02
KOS5 —IL KE 21 5 0.13 0.06 3 0 0.05
: ~j_ L) — 1 1 0.21 0.21 15 0 0.05
RUZART = = 14 1 0.06 0.05 2 0 0.05
r)ZILSYY HTI 9 1 0.01 0.01 0.05 0 0.01
<= +)L)— 5 2 0.65 0.15 4 0 0.02
bLIzoESE BAGL 38 1 0.03 0.02 0.3 0 0.02
EJZz Ry BALL 14 8 0.04 0.02 0.5 0 0.01
I=h3bk 7 4 0.14 0.04 0.5 0 0.01
¥SyoxkoEy F—< 10 2 0.13 0.03 1 0 0.01
HARLZL 37 12 0.06 0.02 0.7 0 0.01
_EDH 3 2 0.35 0.17 15 0 0.02
HTI 2 1 0.19 0.11 25 0 0.02
EUSYIL L) — 16 10 1.40 0.33 15 0 0.02
I=hRbk 6 1 0.31 0.07 5 0 0.02
F—< 13 3 0.08 0.03 2 0 0.02
EURUHILT I=kRbk 22 13 0.46 0.12 3 0 0.02
2LV KE 21 13 0.31 0.07 2 0 0.02
JroEa¥IA—F F—< 1 1 0.06 0.06 1 0 0.02
JxJaFV—)L HAZL 16 5 0.05 0.02 0.7 0 0.01
P EI=TNYP HALZL 5 2 0.04 0.02 2 0 0.02
Y354k KE 27 8 0.10 0.03 1 0 0.02
IINToF L HAZLL 33 2 0.04 0.02 0.2 0 0.02
ZILXH AR S=RYk 20 7 0.11 0.04 1 0 0.02
SSobda g — SZRRE 3 2 0.65 0.43 5 0 0.03
INITRI=N SOVAIFA 9 1 0.48 0.08 5 0 0.03
_EDH 5 2 0.10 0.05 10 0 0.02
ligjn/u%’) 31 17 1.70 0.27 10 0 0.02
. HTIE 8 4 0.89 0.15 10 0 0.02
INIx/9ARY L) — 18 8 1.90 0.15 10 0 0.02
I=hRbk 12 6 0.13 0.05 0.5 0 0.02
F—< 1 1 0.10 0.10 1 0 0.02
=& 5 1 0.01 0.01 0.05 0 0.01
_EDH 1 1 0.25 0.25 20 0 0.01
L) — 11 6 0.62 0.14 10 0 0.01
TILRUSFIR SRk 2 1 0.21 0.11 2 0 0.01
F—< 10 4 0.08 0.03 3 0 0.01
SOVAITFA 3 3 0.03 0.02 3 0 0.01
HARLZL 15 12 0.09 0.02 0.8 0 0.01
=g =S5 8 1 0.05 0.03 4 0 0.03
JRvERy F—< 5 4 1.30 0.38 10 0 0.03
ZO0=A3F SZRRE 22 17 0.49 0.13 2 0 0.02
JOEIFE *i’g 9 3 0.07 0.03 0.7 0 0.02
. e HT I 9 4 1.10 0.27 10 0 0.02
AR F—< 6 1 0.03 0.02 4 0 0.02
NUFFNAYALITAYTAEIL ZpoY 9 1 0.02 0.01 0.5 0 0.01
L) — 16 13 1.40 0.24 30 0 0.01
on o— I=hRbk 25 13 0.40 0.07 3 0 0.01
NYFFESE E—<> 14 3 0.14 0.03 3 0 0.01
HARLZL 15 7 0.11 0.03 3 0 0.01
I=hRbk 14 8 0.37 0.07 5 0 0.02
s i F—< 11 3 0.52 0.10 10 0 0.02
RAAUE SOVAIFA 1 1 0.35 0.35 5 0 0.02
HARLZL 37 15 0.14 0.04 3 0 0.02
EOBFIETRS IF5NAZS 3 2 1.30 0.46 25 0 0.02
AYS)L L) — 15 2 0.37 0.07 2 0 0.02
AES5ET LM F—< 8 1 0.03 0.02 2 0 0.02
_EDH 2 1 0.31 0.18 5 0 0.05
JLozxOoy HT IR 4 2 0.53 0.24 2 0 0.05
F—< 3 1 0.10 0.07 1 0 0.05
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